3.4 Triangle Intro Part 1|
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Order the sides and angles of the triangle from least to greatest. Q
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**Remember: The smallest side i |s

The medium side is

the smallest angle & vice versa.
mﬂ‘"ﬁ- the medium angle & vice versa.

The largest side is ——M‘L the largest angle & vice versa.

Classify the friangle by its angles:
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Triangle Inequality Theorem: The s

How to do it:
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Can you make a triangle using these numbers as the sides?
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To find the range of possible measures for the third side of a triangle:
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Find the range of possible measures:
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Application/Practice Problem:s: M H\le # )

Find the missing angle measure:
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Solve for x and find all the measures of the friangle.
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